10.1 Graph Rational Functions

Corrective Assignment

NAME:

DATE:

Graph the following and write the equations of the horizontal asymptote and vertical asymptote.

- - 1 _ =1 -1
Lo y=—<+2 2. f)=-——=-4 3. f)=_+1 4. y=—-—
VA: VA: VA: VA:
HA: HA: HA: HA:
Given the graph of a rational function, find the asymptotes and intercepts if they exist.
5. 6. 7.
EEEREE VA: 1 VA: VA:
i_,.;i—; 11 1 x-int: ,s 534 5 —1—*’7‘5’:’—‘: X-int: B R . ! S x-int:
‘ y-int: /_w “ y-int: y-int:
Find the horizontal asymptote, vertical asymptote(s), x-intercept(s), and y-intercept if they exist.
8. 9. 10.
_ 2x2 — 32 f(x)_Zx—S _x2—5x—84
f® = T3x v a0 x% —7x f@ =77
VA: VA: VA:
HA: HA: HA:

X-intercept(s):

y-intercept:

x-intercept(s):

y-intercept:

x-intercept(s):

y-intercept:




Find all asymptotes and intercepts. Mark them on the graph. Use the graphing calculator to sketch the function.

11. VA: 12. VA:
x—4 x%? —9x + 20
f(X)—x2_3x f(96)=—xz_4x+3
HA: HA:
Xx-int: Xx-int:
y-int: y-int:
13. VA: 14. VA:
2x x2—-9
f(x)—xz_1 f(x)=—4x2_16
HA: HA:
Xx-int: Xx-int:
y-int: y-int:

ANSWERS TO 10.1 CORRECTIVE ASSIGNMENT

1LVAix=-5HAy=2

L

: +

| i B S —

i !

IR REEEY
: =l
i ~
; -

123 4 56 74

2.VA:x =3, HA:y = —4

3 VA:x=0,HA'y =1

4. VA: x =

x-int: (—2,0), (4,0)

5. VA:x =4 x-int: (3,0) 6. VA: x = -3 7.VA: x =0,x =2 x-int: none
. 1 . 1 .
HA:y =1 y-int. (0, E) HA: none y-int. (0, —5) HA:y = =2 y-int: none
8.VA:x =—-8  x-int: (—4,0) 9.VA:x=0  yint: (5,0) 10. VA: x = —4 x-int: (=7,0)
x=-5 (4,0) x=17 _ 2 (12,0)
HA: y = 2 y-int: (O _3) HA:y =0 y-Int: none HA: none y-int: (0,—21)
-
11.VA:x=03,HA:y =0 |12 VA x=13 HAy=1 3. VA x=-11,HAy =0 | 14. VA: x = —=2,2, HA: y =i

x-int: (4,0), y-int: none

;
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x-int: (4,0), (5,0), y-int:
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x-int: (0,0), y-int: (0,0)

x-int: (=3,0), (3,0), y-int: (O' %)

1, !?(!!‘4."
;







